H FURUNOG

PACKING LIST FOR 1945

Box 1 - 1945 Display
Part No.
1945DISP
001-063-220
001-026-450
100-343-821
100-248-780
000-155-826
000-155-853
100-332-651
100-344-030
10 000-162-608
11 000-157-995
12 J39-600-60Z
13 MDC-357-90Z
14 OME-357-90Z
15 MLG-537-90Z
16 IME-357-90Z

© oo ~NO UL~ WNPE

Box 2 - Gearbox

Part No.

RSB0070-059
300-130-020
000-515-332
000-863-112
000-864-132
000-864-263
000-862-191
000-863-109
10 000-864-129
11 000-864-260
12 000-862-180
13 000-141-084
14 000-566-000
15 100-275-580

© o0o~NO UL~ WLk

Box 3 - 000-140-435

Part No.
1 000-140-435

rev 8-27-12

Description

Wt: 19 Ibs. Dim: 19" x 17" 12"
Quantity

10.4" "Portrait" Color LCD Display 1

Mounting Bracket
Mounting Knob
White Plastic Cover
Fuse Label 5A
Fuse FGBO 10A
Fuse FGBO 5A

Lens Cloth

Flush Mounting Sponge
Tapping Screw 5x20

Power Cable Assy 5M

Bilingual Fuse Exchange Notice
Environmental Declaration
Operator's Manual

Operator's Guide

Installation Manual

Description

PRPRPRRPRPRPARPRLRNNRERLRNR

Wt: 48 Ibs. Dim: 18"x 17"x 21"
Quantity

Gearbox with RTR059 XCVR 1

Seal Washer
Plastic Cap
Hex Nut M12

Flat Washer M12
Spring Washer M12
Hex Bolt M12x60

Hex Nut M6

Flat Washer M6

Spring Washer M6

Hex Bolt M6x25

EMI Core RFC-13
Grounding Cable 340mm
Anti Corrosion Mat

PRPWRRP®FRANNDNDNANAN

Wit: 18 Ibs. Dim: 11"x 18"x 18"

Description Quantity
15M IC Cable 1

Page 1 of 2

For Internal Use Only

Serial No. 4374-

Checked By:
Tech
Date
1945DISP
Yes Remarks
RDP152

sub SP03-12200

sub FP03-11601

sub CP03-32901

RSB0070-059

Yes Remarks
sub 008-503-360
000-140-435
Yes Remarks

10, 20, 30M available




H FURUNOG

PACKING LIST FOR 1945 (con't)

Box 4 - Antenna

Part No.

XN12A/4

000-851-313
000-862-187
000-864-262
000-864-130
000-854-118

o0k WN P

rev 8-27-12

Wt: 151Ibs. Dim: 12"x 9"x 52"

Description

Curved Face 4" Antenna (Side Feed)

80mm "O" Ring
Hex Bolt M8x30
Spring Washer M8
Flat Washer M8

"3 BOND" Adhesive

Page 2 of 2

Quantity
1

P ADDBAPRE

For Internal Use Only

Serial No. 4374-

Checked By:
Tech
Date
XN12A/4
Yes Remarks

sub 008-225-130




